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1. Which of the following would nor change the demand for a good or service 7

2.

5.

a. achange in income.
b. achange in the price of a related good.
c. achange in expectations about the price of the good or service.
d. achanpe in the price of the good or service.
Firms can have
(1) accounting profits and economic losses.
(2) accounting profits and economic profits.
{3) accounting losses and economic logses,
(4) accounting losses and economic profits.
a. (1), (2) and (3)
b. only (1) and (2)
c. only (2) and (3)
d. all of the above
In a perfectly competitive market, marginal revenue equals
a. average revenue.
b. marginal cost.
c. price.
d. all of the above.

A museum decides to raise the price it charges people to visit the museum to increase its
revenue. The musewm is assuming that -

a. the demand for museum visits is elastic.

b. the demand for museum visits is unit elastic.

¢. the demand for museum visits is inelastic.

d. the demand for museum visits is getting flatter.
The minimum wage is an example of

a. aprice ceiling.

b. a price floor.

¢. a free-market process.

d. an efficient labor allocation mechanism.
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6. As the quantity produced increase q
average fixed cost decreases.
fixed cost increases.

variable cost decreases. 43

. None of the above.

2 o0 g m

7. A monopolist will choose to increase output when
a. market prices rise,
b. marginal revenue exceeds marginal cost.
c. there is an expansionary shift in the market supply curve.
d. all of the above.
8. Which of the following would be considered key determinants of labor productivity? J10
(i) physical capital
(ii) human capital
(iil) technological knowledge -
a, (i1} and (iii) only.
b. (i) and (iii) only.
. (1) and (i) only. . : ' .
d. All of the above. 115

o

WA R2E BRI ]

L B E-SRNTEE RS HT AR RSN LR - A ERERBRA L A
HHHLHRRAETSHEEEROERSELRE - -

9. 7 1914 % > Henry Ford PAGATHITH | FHIEAEMBEREIRNE T - 7

Henry Ford B O EB M — B TE WKL “one of the finest cost-cutting moves |20

we ever made.” A% the Ford Motor Company 1% T % BUR KAEIH B
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gy - PLEASE ANSWER ALL QUESTIONS IN ENGLISH (F£E} 30 43)

1 ~ (2)State any three organization theories, which you feel, provide the most
divergent perspectives for viewing organjzational behavior, (b) Define the concepts
basic to each. Then (c) compare and contrast the three theories, emphasizing on those
elements of each theory, which make it significantly different from the others.
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HERAHE  REFEH TR © THEEA S AR -48G92%+
HEARE 0106

MH, HTRZE 2B eI THEEY ES % 6580+

. . TR LT .5306%*

X @ r%ﬁ'ﬁ'ﬁ_ﬁ_} FLRAR AN r:ﬁ'g‘i—%J & I WER 7113**

Mo RAREBANKERF OREAXRS  ausik Py

BRAWR B550%*

CRBAGREERRLS @A LEEHE-

) SE—FMAEEEY TREE ) BAHEK Y
o RERWR 2 - SRS SEARBEHY
TH#2%, 28EhR ) BTz

) 7. TiEBEEER (Y2 ) WABRBABBR IS
F—EFERY o BB S ABESHEY T2
RBER BEH 2N TR G FE
R©BREWNAHALHTAT? OFEBFITH
@ % &5 #HH4F ( multiple classification analysis, MCA )
@F B 47 ( pathanalysis ) DI AFEEF 54T (

logistic regression ) o

Ak e e =

N of cases:76 1-tailed Signif: *-.01 **-.001
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L e @ s s 3 EAEE 525836 031398 444 6584

() 6REM > iR - & THREL BRARA  Liiwm sesea00 123057 1758 0783
MERERH L OILEE OL%AH AL 221592 293632 3.942  .0002

: BEAMS 094982 115210 677 5008

@ BHE OEEABEL - T (k#oR) 9973183 2.879 .0053

Multiple R = 0.93987
F=73.57081

R Square = 0.83336
Signif F = 0.0000
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I. Embeddedness (&4 )

2. Postindustrial society

3. EQ (emotional quotient or emotional intelligence)
L BER

5. Flexible production

6. Social Stratification
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10 points for each problem! (1999.05.02)

L.

10.

. 6. Calculate §

Suppose that a1,as,...,a, are positive numbers. Calculate
Py P 1/p
. aytayt---+ab
the limits of ( S n)

- asp — oo, p — 0 and

p — —00 respectively.

- How long does it take for an investment to triple if the annual

interest rate is 6% compounded continuously?

. The region bounded by the curve y = 2, the x-axis, and the

line x = 2 is revolved about the z-axis. Calculate the volume
of the solid generated.

—sinx

. Calculate f %—— drx

+sinz

. Calculate the area of the region enclosed Ly the graph of the

cardioid 7 = 1 4 sin 6.
1
s=o0 (k -+ 2)k!

Calculate the Maclaurin series for E cos V1 dt.

. Calculate the length of the arc of the curve f(t) = (2¢ —t?) i +

-g-t3/2 j betweent=1and t = 3.

. Find the minimum value of * + 4® + 2 for (z,y, 2) on the

planes t+y+z=2and z+y — 2z = 3.
Calculate fooo fooo e v dzdy.

That if you confess with your mouth, Lord Jesus, and be-
lieve in your heart that God has raised Him from among
the dead, you shall be saved.

-Romans 10:9
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